[ number of missing inner layers | [ number of missing outer layers |

1e - - —| Entries 80693 1e - - —| Entries 80693
E Mean 1.126 Mean 0.8817
L Std Dev 1.118 Std Dev 1.446
) i S S Sp— [ L - [
107 : : *TEnuies 81218 107 Entries 81218
F : : + | Mean 1.078 F Mean 0.8852
L Std Dev 111 L Std Dev 1.452
7 I - S DU I 7 ] - S DU
10 3 Entries 80773 10 3 Entries 80773
F Mean 1.126 F Mean 0.883
3 B Std Dev 1117 3 B Std Dev 1.447
1073 peeees QERELIEE EXEEEER 10°E
o Entries 80811 o Entries 80811
r Mean 1.126 r Mean 0.882
_ Std Dev 1.117 . Std Dev 1.446
Al L e AT e
10 E . 10 E . 1
E Entries 81129 E Entries 81129
L . . . Mean 1.078 L . . . Mean 0.8869
Sl ..., L N T «. .| Std Dev 1.11 Sl ..., P . . T «. .| Std Dev 1.454
107°F : : : 107°F : : :
01()16:""| 01([_6‘_....!...!....!....!....
T 1.05E el IS : +
o E [0 | T A e S
e ~—i=y [
Eom Al . [ T
0.95E s 1k B, _ O T
oF L
.9
0 5 10 15 20 25 0 5 10 15 20 25
—— B Ul‘k%illdl SLE] ((Oar-prrast L=-TTewgeoTIT
g D it_sTe| asel -newgeom
|j — B j@ng{le —ste Zn_ﬁt rarrgas%sl %en wgeom
mean i " e‘r(s.tPE nencpstepz ttbargpﬁasel-newgeom

= 20 10°F Entries 80693
1) - E Mean 14.68
> E F Std Dev 3.787
A E L R R |
2 F - Entries 81218
= - 3 Mean 14.76
v E 10°F : Lstd Dev 3.817
E C [Entres 80773
F o ‘M Mean 14.68
E + |IStd Dev 3.788
F 10°F - B T
F F htries 80811
i - Mean 14.68
E - Std Dev 3.787
E | ot I
- 10 = Entries 81129
E F Mean 14.76
E [ Std Dev 3.816
E L T M
E : : : : : 1e
OLw'....l....!....I....!....!.... o ucf
5 f : L g -
x 1 E g gh e e
il [
; : : : : : i 1 S
0.95 : : : : : ] 3 : : :
=3 -2 -1 0 1 2 3 0 5 10 15 20 25 30 35 40
track n track hits

Entries 133002 Entries 129904
Mean 2.164 Mean 0.7436
Std Dev 6.079 Std Dev 1.097
H | 1O e - s oo 1
Entries 133002 Entries 130536
Mean 2.164 Mean 0.747
Std Dev 6.079 Std Dev 1.13
: I : 1
Entries 133002 Entries 129971
ean 2.164 Mean 0.7446
S ev 6.079 Std Dev 1.107
L I :
Entrids 133002 Entries 130024
Mean 2.164 Mean 0.7443
Std D 6.079 | Std Dev 1.105
I | | H
Entries 133002 Entries 130505
Mean 2.164 Mean 0.7467
Std Dev 6.079 Std Dev 1.13
T 01058 T ...0.I L I
= F b
© F B
¥ 1.05 3 i
i LI
. g E -+ g
0.95— . . - 3 0.95E T - 3
10 1 10 10 10 10 1 10 10 10
TP p track p

o



	Contents
	Page 1


